


♦ 𝐷 = (𝐹, 𝐴) 𝐹 𝐴

♦ 𝐹 = {𝐹𝑖| 𝑖 = 1, . . . , 𝑀}

◦ 𝑛𝑑𝑜𝑐𝑘
𝑖



◦ 𝑡𝑑𝑜𝑐𝑘
𝑖

♦ 𝐴 = {(𝑖, 𝑗)| 𝑖, 𝑗 ∈ 𝐹}

◦ 𝑑𝑖𝑗

◦ 𝑡𝑖𝑗

♦ 𝑂 = {𝑂𝑖| 𝑖 = 1, … , 𝑁} 𝑂𝑖 = (𝐹𝑝
𝑖, 𝐹𝑑

𝑖 , 𝑞𝑖, 𝑡𝑝
𝑖 , 𝑡𝑑

𝑖 , 𝑇𝛼
𝑖 , 𝑇𝜔

𝑖 )

◦ 𝐹𝑝
𝑖: 

◦ 𝐹𝑑
𝑖

◦ 𝑞𝑖

◦ 𝑡𝑝
𝑖

◦ 𝑡𝑑
𝑖

◦ 𝑇𝛼
𝑖

◦ 𝑇𝜔
𝑖

♦ 𝑉 = {𝑉𝑖| 𝑖 = 1, . . . , 𝐾}

◦ 𝑐𝑖

◦ 𝑝𝑖

♦ 

♦ 

♦ 

♦ 

♦ 

𝑂1 𝑂2

(𝐹𝑝
1, 𝐹𝑝

2, 𝐹𝑑
1, 𝐹𝑑

2) (𝐹𝑝
1, 𝐹𝑝

2, 𝐹𝑑
2, 𝐹𝑑

1)

♦ 



𝑚𝑖𝑛 𝑓 = 𝜆 × 𝑓1 +  𝑓2

♦ 𝜆 ≥  1 𝜆 =
10000

3600
≈ 2,78

♦ 𝑓1:

𝑓1 = ∑ 𝑚𝑎𝑥(0, 𝑇𝑐
𝑖 − 𝑇𝜔

𝑖 )

𝑁

𝑖=1

𝑇𝑐
𝑖 𝑖.

♦ 𝑓2:

𝑓2 =
1

𝐾
∑ ∑ 𝑑

𝑛𝑗
𝑖 ,𝑛𝑗+1

𝑖

𝑙𝑖−1

𝑗=1

𝐾

𝑖=1

𝑖. Π𝑖 = (𝑛1
𝑖 , 𝑛2

𝑖 , … , 𝑛𝑙𝑖

𝑖 )

𝑓1

𝑓2

♦ 

◦ 𝐹𝑑𝑒𝑠𝑡
𝑖

◦ 𝑇𝑎𝑟𝑟
𝑖



◦ 𝐿𝑑
𝑖

◦ 𝐿𝑝
𝑖

♦ 

◦ 𝐹𝑐𝑢𝑟𝑟
𝑖

◦ 𝑇𝑑𝑒𝑝
𝑖

♦ 

◦ 𝐿𝑐𝑢𝑟𝑟
𝑖

◦ ℒ𝑖

♦ 



 →

 → 𝑖. 𝑖 𝑚𝑜𝑑 𝐾
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https://competition.huaweicloud.com/information/1000041411/introduction
https://math-projects.elte.hu/projects/work/127/

